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QUESTION 1

Before starting provisioning operations in Hitachi Device Manager, what are three requirements? (Choose three)
A. The host must be physically connected to the SAN.

B. The port on the storage system must be configured.

C. Any world-wide node name (WWNN) must be configured for the host.

D. The host must appear in the host view.

E. The switch must be added to Device Manager.

Correct Answer: ABD

QUESTION 2

A customer has concerns about high availability and single-point failure for their VSP environment and they are planning
to implement a multi-pathing software. Which two Hitachi Dynamic Link Manager (HDLM) features will assist this
customer? (Choose two.)

A. HDLM automatically redirects 1/O operations to alternate paths if a failure occurs.

B. The HDLM server monitors the client hosts\\' multi-pathing agents and redirects I/Os to an available path if a path
failure occurs.

C. HDLM collects path error information and preventively sets a path offline if the error threshold is exceeded.
D. When a failed path becomes available, HDLM places the recovered path back online.

Correct Answer: AD

QUESTION 3

Which three GUI options in the Hitachi Command Suite would be used to optimize data placement within an HDT
implementation? (Choose three.)

A. Edit Dedupe Policy
B. Edit Tiering Policy
C. Migrate Data

D. Archive Data

E. Expand DP Volume

Correct Answer: BCE
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QUESTION 4

A storage administrator needs to create a LUSE volume on a VSP storage system. Which two volume types are used
for this task? (Choose two.)

A. pool volumes

B. DP volumes

C. basic volumes
D. external volumes

Correct Answer: CD

QUESTION 5

On a server with intensive sequential I/O profile, you have set Extended Round Robin within Hitachi Dynamic Link
Manager. Which two benefits result from implementing this algorithm? (Choose two.)

A. tracks preloaded to cache

B. blocks held permanent in Read Cache

C. no tracks preloading on the system

D. efficient cache usage on the storage system

Correct Answer: AD
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